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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-IV « EXAMINATION — WINTER -« 2014

Subject Code: 3342201 Date: 26-11-2014
Subject Name: Mine Surveying - |
Time: 02:30 pm - 05:00 pm Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten.
1.  Give the general classification of theodolite.
2.  Define Transiting.
3. Give the names of steps included in temporary adjustments of theodolite.
4.  What is Traversing?
5. Write the formula for finding latitude and departure of traverse lines.
6. Name the instruments used for i) measurements of directions and ii)
measurements of angles.
7. Enlist various types of faults.
8.  What is bearing? Give classification.
9. Define True dip and Apparent dip.
10. Give the names of errors in dial surveying.
Q.2 (a) Define the terms: face right and face left observations; swinging the telescope;
telescope normal.
OR
(@) Explain the repetition method for measuring horizontal angle.
(b) Explain the temporary adjustments of vernior theodolite.
OR
(b) List and explain the steps carried out during permanent adjustments of
theodolite
(c) The magnetic bearing of a line was observed as S 13°20" E when the magnetic
declination was 22° E. What is the true bearing of the line?
OR
(c) For what purpose the Bowditch rule is used. Explain the Bowditch's method.
(d) Distinguish clearly between Closed traverse and Open traverse.
OR
(d) Name the various parts of theodolite and write various uses of theodolite in
mine surveying.
Q.3 (a) Explain direct method with transiting used for traversing.
OR
(@) Write general requirements of a Mine plan.
(b) How the measurement of a subsidence is being done?
OR
(b) Give advantages and disadvantages of dial surveying.
(c) Explain constructional features of miners dial with neat sketch.
OR
(c) Explain various types of faults with neat sketch.
(d) Differentiate between prismatic compass and miner’s dial.
OR
(d) What is Booking of Survey? Explain it.
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Describe the method for measuring subsidence.

OR
The full dip of a seam is 1 in 4 due south. Calculate the apparent dips in the
directions (i) S 40° E and (ii) S 65° E
Two seams of coal are 60 meters vertically apart and dip is 1 in 5. Calculate in
meters, the length of a cross-measure drift driven to connect them if it dips 1
in 3 in the same direction as the seams.

OR
List the steps for setting out underground roadways by protector method.
The full dip of aseam is 1 in 6 in direction S 40° E. A cross-measure drift
rising at 1 in 7 bearing S 20° W is to be driven to intersect another seam
which lies 50 meters vertically above. Calculate the length of the drift from
floor to floor of the seams.

Explain any one method for measuring the depth of vertical shaft.
Explain deviation in the borehole drilling.

List the steps to carry out traversing adjustments.

Describe the steps to test the Miner's dial.
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